
 

KERN & Sohn GmbH 
Brickyard 1 

D-72336 Balingen 

E-mail: info@kern-
sohn.com 

Tel: +49-[0]7433- 9933-0 

Fax: +49-[0]7433-9933-
149 

Internet: www.kern-
sohn.com 

 

Installation instructions  
Tripod 
 

KERN  IFB-A01 / A02 
Version 1.3 

2025-06 

en 
 

  
 
 

 

IFB-A01-A02-IA-e-2513 
  



2    IFB-A01-A02-IA-e-2513 

  

 

en 
Tripod 
Version 1.3 2025-06 

Installation instructions 
  

 
Table of contents 

1 Technical data .................................................................................................... 3 
1.1 Dimensions ...........................................................................................................................4 

2 Scope of delivery ............................................................................................... 6 

3 Installation .......................................................................................................... 7 
 
 
 

 
 
 

 
 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 



IFB-A01-A02-IA-e-2513  3 

1 Technical data 

KERN IFB-A01 IFB-A02 

Tripod height (mm) 330 600 

For platform sizes (mm) 300 x 240 
400 x 300 
500 x 400 
650 x 500 

400 x 300 
500 x 400 
650 x 500 

 

  



4    IFB-A01-A02-IA-e-2513 

1.1 Dimensions 

Models with 330 mm: 

 
  



IFB-A01-A02-IA-e-2513  5 

Models with 600 mm: 

 
 

 



6    IFB-A01-A02-IA-e-2513 

2 Scope of delivery  

 

 
 

A B C 

Tripod base Tripod tube Holder for display unit 

1 x 1 x 1 x 

 
  

S1 S2 S3 

M6 x 16 Spring washer Washer 

4 x 4 x 5 x 

   

S4 S5 S6 

M6 x 12 M6 x 10 M8 x 20 

1 x 2 x 1 x 

   

S7   

M8 nut   

1 x   

C, S3 (1x), S6 and S7 are supplied pre-assembled. 



IFB-A01-A02-IA-e-2513  7 

3 Installation  

Attach the stand base to the platform: 

1. Position the stand base (A) centrally over the holes on the side of the platform. 

2. First place the spring washer (S2) and then the washer (S3) on the screw (S1)  
(4 x). 

3. Tighten the tripod base. 

Make sure that you do not pinch or damage any cables. 

 

 

  



8    IFB-A01-A02-IA-e-2513 

Attach the tripod tube to the tripod base: 

4. Unscrew screws S4 and S5 from the stand tube. 

5. Insert the tripod tube (B) into the tripod base. Ensure that the hole in the stand 
tube matches the hole S4. 

6. Screw in screws S5 again and fix the stand tube with screw S4. 

 

 
  



IFB-A01-A02-IA-e-2513  9 

Attach the display unit to the stand tube: 

7. Insert the holder for the display unit (C) into the stand tube and fasten with the 
screws S6. 

 

 Insert the holder (C) for 
the display unit into the 
upper end of the stand 
tube (B) and secure 

with the screw (S6). 

Counter on the oppo-
site side with the 
washer (S3) and the 

nut (S7). 

 

 
 

 


